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Q1.  2 × 3 × 3 =      

Q2.  8 × 3 = 

Q3.  3 × 12 = 

Q4.  21 ÷ 3 = 

Q5.  15 ÷ 3 = 

Q6.  33 ÷ 3 = 

Q7.  12 × 3 = 

Q8.  4 × 3 = 

Q9.  3 × 7 = 

Q10. 28 ÷ 7 = 

Q11. 3 x ? = 24 

Q12. 7 x ? = 21 

Q.13. 30 ÷ ? = 3 

 

 

Please turn over. 
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Q14.  A shop sells postcards in packs of 6 and packs of 8 

    

Alan bought 3 packs of 6 cards. 

How many cards did he get? 

Q15.   Write the correct sign =, > or < in each circle. 
  

3  ×  2 
 

9  ×  3 

3  x  3 
 

12  x  3 

10  x  3 
 

3  x  0 

4  x  3 
 

3  x  4 

Q16. 

   

Alan has 33 beans. 

He plants 3 beans in each of his pots. 

How many pots does he need? 

  


